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Linearized knot diagam
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3\/\ Solving Sequence

A knot diagranﬂ €5 €6 €1 C2 ~ Cr Ci1 €3  Cio
Ideals for irreducible component#ﬂ)f Xpar

I = (W —u® 4+ +3u—1)

* 1 irreducible components of dim¢ = 0, with total 54 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1

9 —>6—>T7T—>1—>3— 4'11%94'10?4%03,09


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
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L I*=(u*—u®+...4+3u—1)

(i) Arc colorings

w- (1)

1

as = 0
1

ag = _u2

w41
a7 = _u2

—u
a1 = \ud+u
—u3
az = w? +ud 4+ u
w0+ +2u +ut+u+1

ag = \ —y!2 — 2010 — 448 — 445 — 3u* — 2u?

—u” —2u® — 2ud — 2u
ann =\ o' +ud+2u+u
ag = u26_’_4u24+“._4u4_3u2

—u*® — 8utd ... —4ud — 3u
a0 =\ uP® 4+ 7B+ +534+u

w4+ 2ut® + 5utd + 6ult + Tu® + 6u” + 4u® + 2ud +u
ag = \ —19 — 317 — 8u!® — 13u!d — 17wt — 170 — 1207 — 6u® —ud + u
wl” 4+ 2015 + 5ul? 4+ 6ult + 7u? + 6u7 + 4u® + 2ud + u
g = \ —y™ — 37" — 8u'® — 13u® — 17u!t — 170 — 1207 — 6u® —ud 4+ u
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u’3 + 32u®! + .- — 8u + 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs wt w4 3u—1
Co,Cg W 1T+ —Bu+1
c3,C7 ubt —uP 4 4 5u—25
4, Cy W LB —u—1
cs, C10 ubt — 190 + - —BSu+1
c11 uPt 4 5u® 4 - — Bu — 21




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs P17y =By 41
¢2, Co Yt A1y o — 93y + 1
3, Cr y°t —39¢°% + ... — 9225y + 625
C4, Co Yt — 19y + . — By + 1
cs, €10 P 43358 o — 13y + 1
54 53




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.225158 + 0.9855091

2.66174 — 2.824231

9.41850 + 4.269271

—0.225158 — 0.9855091

2.66174 + 2.824231

9.41850 — 4.269271

0.013188 + 1.0204301

—6.28584 + 2.763451

—1.40260 — 3.246021

0.013188 — 1.0204301

—6.28584 — 2.763451

—1.40260 + 3.246021

—0.322299 + 0.9108961

—0.90934 + 3.043101

5.53731 — 1.396301

—0.322299 — 0.9108961

—0.90934 — 3.043101

5.53731 + 1.396301

0.172024 + 1.0194101

—3.04751 + 3.371291

1.74364 — 3.432251

0.172024 — 1.0194101

—3.04751 — 3.371291

1.74364 + 3.432251

—0.188352 + 1.0325601

—1.89570 — 8.859651

3.95399 + 8.194191

—0.188352 — 1.0325601

—1.89570 + 8.859651

3.95399 — 8.194191

0.130465 + 0.9116151

—1.74890 + 1.555841

1.72859 — 4.901091

0.130465 — 0.9116151

—1.74890 — 1.555841

1.72859 + 4.901091

—0.719799 + 0.8098221

3.52747 — 0.232441

13.19154 — 1.366581

—0.719799 — 0.8098221

3.52747 + 0.232441

13.19154 4 1.366581

—0.818638 + 0.7182541

3.52513 + 2.902651

8.89044 — 0.480351

—0.818638 — 0.7182541

3.52513 — 2.902651

8.89044 + 0.480351

0.654895 + 0.8717731

0.94675 + 2.543011

4.57303 — 2.792401

0.654895 — 0.8717731

0.94675 — 2.543011

4.57303 + 2.792401

0.830157 4+ 0.7170411

4.86571 — 8.430161

10.90175 + 5.081031

0.830157 — 0.7170411

4.86571 + 8.430161

10.90175 — 5.081031

—0.631705 4+ 0.6433541

—1.36873 + 3.226181

6.44583 — 3.293261

—0.631705 — 0.6433541

—1.36873 — 3.226181

6.44583 + 3.293261

= —0.799923 + 0.7587891 4.31402 + 0.269121 9.66102 4 0.1
= —0.799923 — 0.7587891 4.31402 — 0.269121 9.66102 4- 0.1
= 0.826542 + 0.7433341 9.45805 — 1.897941 15.5987 + 0.1
= 0.826542 — 0.7433341 9.45805 + 1.897941 15.5987 + 0.1

0.413630 + 0.7826551

—1.72347 + 2.044191

4.15028 — 4.015571

0.413630 — 0.7826551

—1.72347 — 2.044191

4.15028 +4.015571

0.816023 + 0.7730351

5.87973 4+ 4.752721

12.23699 — 4.921411
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0.816023 — 0.7730351

5.87973 — 4.752721

12.23699 + 4.921411




Solutions to I} V—1(vol+v/—1CS) Cusp shape
u= 0.637029 4 0.9654271 —2.61478 4 2.760891 3.34853 4+ 0.1
u= 0.637029 — 0.9654271 —2.61478 — 2.760891 3.34853 4+ 0.1

u = —0.713272 + 0.9127681

3.21684 — 5.247531

12.07775 4 7.285401

u = —0.713272 — 0.9127681

3.21684 +- 5.247531

12.07775 — 7.285401

u = —0.652949 + 0.9764091

—2.30035 — 8.303811

0.+ 8.621121

u = —0.652949 — 0.9764097

—2.30035 + 8.303811

0. —8.621121

u= 0.501769 4 0.6179811

—1.73704 + 2.070511

5.30183 — 3.635681

u= 0.501769 — 0.6179811

—1.73704 — 2.070511

5.30183 + 3.635681

u = —0.738963 + 0.9733681 3.65451 — 6.062071 0
u = —0.738963 — 0.9733681 3.65451 + 6.062071 0
u= 0.755217 4 0.9693471 5.27505 4 1.138301 0
u= 0.755217 — 0.9693471 5.27505 — 1.138301 0
u= 0.749443 + 0.9916961 8.69493 4 7.800281 0
u= 0.749443 — 0.9916961 8.69493 — 7.800281 0
u = —0.735797 + 1.0019201 2.65813 — 8.736501 0
u = —0.735797 — 1.0019201 2.65813 + 8.736501 0
u = 0.740821 4 1.0068001 3.9780 4 14.31261 0
u= 0.740821 — 1.0068001 3.9780 — 14.31261 0

u = —0.638480 + 0.0836821

1.68643 — 6.220081

11.41350 + 5.622881

u = —0.638480 — 0.0836821

1.68643 + 6.220081

11.41350 — 5.622881

u = —0.633762

5.79098

16.1980

u= 0.593562 + 0.0881631

0.459602 + 0.9333891

9.53888 — 0.849771

u= 0.593562 — 0.0881631

0.459602 — 0.9333891

9.53888 + 0.849771

u = 0.334907

0.694593

14.5890




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,¢s W — e+ 4+ 3u—1
C2, Ce uPt +17Tu 4+ —Bu+ 1
c3,C7 ub — w4 4 Bu—25
C4, Cg e —u—1
cs, C10 wt =190 + - —Bu+1
i1 bt F5u - —Bu— 21




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cs Yo+ 17y o =By + 1
Ca, Cg P15+ 93y + 1
cs, Cr Yot —39y° + - — 9225y + 625
C4, Cg Yot — 19y - — By + 1
cs, C10 y54—|—33y53+~-- —13y+1
c11 Yt — 11y°% + - + 7283y 4 441




